asym_sam?2

asym_sam4

asym_samb6

asym_sam3

rund4929 000 resression—asym sSam24

diff_bpmdeY

diff_bpmE

20000 — | — —onl 20000 — — —
- 400 - m - m _oc - m - m eor
B B | B [ | B | —{ 500 B |
15000 - 15000 15000 15000 15000
; : oo : T ; :
10000 [ ot 10000 - 10000 - 10000 [ 0 P 10000 [~ _ .
C u N N —{500 B u N
5000 - —25( 5000 — g 5000 [~ 5000 [~ m 5000
- r i a0t i 30t i s
n [ m n [ = [ m m
o 20( = o o o™
- - 300 N 300 N -
- 15[ - - - 200 n 200
5000 | ~5000 ~5000 |- 5000 | ~5000 -
B 100 " " 200 B _ m
10000 - 10000 5 100 10000 - 10000 - - 10000 5 100
- 50 - " - 100 - -
15000 [~ 15000 [~ u 15000 |- 15000 |- 15000 [~
_III|III|III|III|III|II D _IIIIII|IIII|IIII|IIII|IIII| ﬂ _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ _IIII|IIII|IIII|IIII|IIII D _III|IIII|IIII|IIII|IIII|IIII|III ﬂ
-6 -4 2 0 2 4 10 -5 0 5 10 15 50 -40 -30 -20 -10 O 10 20 30 10 -5 0 5 10 15 20 =10 0 10 20 30
diff_bpmdaX/um diff_bpmdaYium diff_bpmdeX/um diff_ bpmdeY/um diff_bpmEium
dithpmélaL diff_ diff_ diff_ diff_
= I n I n I . (I -
20000 | m —145( 20000 | _lgoc 20000 ya 20000 | " | o 20000 |- m u niks
- —lanc n n - n eni
15000 — 15000 15000 — 15000 [ —60( 15000 —
- - 500 - —{10 - -
- —35¢ - - - - -
' i i ' —500 i —|°0c
10000 |- 10000 |- 10000 |- 10000 |- 10000 |-
C C —la0c C —lanr n n
5000 — m 5000 u 5000 5000 [ 400 5000 40t
B i 300 [ BOC i i
o oF = of 30 of .
i [ [ i [ u
i - W 200 - ETH - N
i a a i a 200
-5000 | ~5000 |- -5000 | -5000 |- 2 ~5000 |-
- 0 106 0 300 - 0 100
10000 | 10000 g 10000 10000 10( 10000
_III|III|III|III|IIIIII _IIIIII|IIII|IIII|IIII|IIII| ﬂ _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ _IIII|IIII|IIII|IIII|IIII D _III|IIII|IIII|IIII|IIII|IIII|III ﬂ
-5 4 3 ) 2 4 10 -5 ) 5 10 15 50 -40 -30 -20 -10 O 10 20 a0 10 -5 ) 5 10 15 20 -10 ) 10 o0 a0
ditf bpmdaX/um diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium ditf_bpmEium
diff_ bpm4aX = diff_ bpmd4aY _ diff bpmdeX  diff bpmdeY diff_bpmE
i —40( i i i —50( i
] m _
i - —40( - S0
4000 4000 4000 4000 4000
N —35( R R —100
| - i - —[40( .o
2000 - —130( 2000 . 2000 2000 2000
i - - —{aoc m
[ —o5( i _
o+ 0 250 0 0 S 0 0L
i 200 . -
[ [ 200 . i
-2000 ~2000 -2000 - 2000 - 2000
- 15( R 2 20 200
| 15 A0r
-4000 100 ~4000 | 10( ~4000 ~ 4000 ~4000
i . | N 20( 100 n 10
= 5'} - 5{: - = -
-B000 - ~B000 - “E000 - m ~&000 - ~B000 n n
T T N N 0 NI T T e 0 RN T T I T I 0 I T e 0 T I T F N 0
-6 4 3 0 3 4 10 -5 0 5 10 15 50 -40 -30 -20 -10 O 10 20 30 10 -5 0 5 10 15 30 -10 0 10 o0 a0
diff_bpmdaX/um diff_bpmda¥ium diff_bpmdeX/um diff_bpmdaY/um diff_bpmEium
B B I B I B B I __I"'Dt
4000 — —45( 4000 = 4000 4000 4000 —
i s —{&0c s —{10¢ i —{70( i
B __IH}E B B B B _E'Dt
2000 - 2000 2000 - 2000 | —g0c 2000
- —ast - = e - 8o i i 5o
- - - - - m
[ I I [ —50¢ "
0 —an 0o o o 0
5 R —Anr R 5 R
_ _ | | . m —lanc
~2pon — W ~2000 ~2000 - 2000 - 2000 — u
i i 30 i [ i 300
[ [ [ a0 [ 300 |
-4000 - ~4000 |- st ~4000 ~4000 ~4000 | -
- . m i [ 200 i - 200
-&000 10( ~B000 |- ~6000 300 ~g00n - ~B000 |-
i u i u 10( i ' [ u 10C i u 100
| N 20 i m i - m _ N
_B.DDD B _B.DDD B _B.DDD [ 111 IJ_LI 11 | 1111 | 1111 | 1111 | 11 _BDDD [ | | | I | | | I | | L1 1 _B.Dnn _I 11 | L 111 | | I | | L1 11 | L1111 | L 111 | L 11 ﬂ

-vs dI

-20 =10 0 10 20 30

"bpm=COLZ postpan.png



diff_bpm4aX = diff_ diff_

8OO0 f— —a5( 8OO0 f— 8OO0

n — - - —40( - 40
[ - o LT - 3 [ -
G000 &000 B00D BO00 [ B000 _
B .. —{ A0 N u N B —{a5( N 35(
N L —300 = —30C - =
4000 4000 4000 4000 [ 4000
B B n u —anc = —1 300
N - N N N N
2000 2000 —125¢ 2000 2oL 2000 2000
- - - - - m 25( - 250
E 200 B n i i
= | ol 200 = 20( o ol
2 - - : ) i " 200 C - 200
_ _ _ _ n _
reg_asyin_Ssail 2000 [ 5 aon0 - s 2000 s 200 2000 -
— — : : : : - 15 : - 15[
-4000 — 100 -4000 — -4000 — -4000 — -4000 —
N - m 1ot _ 10 N m 106 _ m 10
6000 |- 6000 - - 6000 |- 6000 |- - 6000 -
- 50 - 50 - 50 - - - 5
B R [ R B R
~BDO0O u ~BDOO u ~B0O0 - 8000 [ u ~BDOO u
-III|III|III|III|III|II D -IIIIII|IIII|IIII|IIII|IIII| ﬂ -IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ -IIII|IIII|IIII|IIII|IIII D -III|IIII|IIII|IIII|IIII|IIII|III ﬂ
-6 -4 2 0 2 4 10 -5 0 5 10 15 50 -40 -30 -20 -10 O 10 20 30 10 -5 0 5 10 15 20 =10 0 10 20 30
diff_bpmdaX/um diff_bpmdaYium diff_bpmdeX/um diff_ bpmdeY/um diff_bpmEium
diff_bpm4aX = diff_ diff_ diff_bpmdeY  diff_
- - - - I -
4000 4000 4000 —[40t 4000 —45¢ 4000 —[45¢
- —(35( - A - - -
3000 3000 3000 —|35¢ 3000 —40( 3000 —[40c
- - —{a5¢ - - -
- — 300 n n - - n agr
2000 2000 2000 —{anc 2000 | 2000 |
- - —30 - - -
C —25¢ C C C — C —{30c
1000 1000 1000 - 1000 00 1000 - .
- - 25( - - -
n u u n - N a5(
oy 200 Iy 1 oy 0 .. ] 25t ]y f ]
- - .' S0t N | 20( - - -
re aS m Sam - = - - C 200 " m u 20(
=1000 15 =1000 — =1000 = 15¢ =1000 — - | =1000 —
C : 15¢ : C 1&( C m 150
-2p00 b ~2000 | ~2000 2000 g - ~2p00 |
- 100 - - 100 - -
- - 100 - - = 100 - 100
-3p00 ~a000 | -3000 ~3000 b ~ap00 |
-4000 ~4000 ~4000 -4000 -4000 m
_III|III|III|III|IIIIII D _IIIIII|IIII|IIII|IIII|IIII| ﬂ _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ _IIII|IIII|IIII|IIII|IIII D _III|IIII|IIII|IIII|IIII|IIII|III ﬂ
-5 4 3 ) 2 4 10 -5 ) 5 10 15 50 -40 -30 -20 -10 O 10 20 a0 10 -5 ) 5 10 15 20 -10 ) 10 o0 a0
ditf bpmdaX/um diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium ditf_bpmEium
diff diff Y
- —45( s i - —450 n .
1500 |- = 1500 | = —7 = —=0L
N —|40( n n —{40C N n
1000 — —|400 1000 | - -
- —{35( n - = —{35¢ n u —anc - n —anc
- - L - u -
0 " 00 o 3 I 3
- "n - 300 - - N "
0 - . 0 25( n 3 - 3
- - - - - m
reg_asymn_sam soof  m . 2 o soof- 201 soof 2 .
n n n 15( n n
-1000 — — =1000 — =1000 [~ —
: - - 100 : -
-1500 | u - 0 -1500 | -1500 | 100 - 100
N n u x - 50 - n
_2p00 u _ap00 u _sp00 = 2000 u _apon u
SN B B B B B e e B Co bl g b v v g b b e 0 Cooaa oo vy b breaa by ea b 0 Coo v o by v by v s b b g 0 NN EEEEEEEEEE NN NN e 0
-6 4 3 0 3 4 10 -5 0 5 10 15 50 -40 -30 -20 -10 O 10 20 30 10 -5 0 5 10 15 30 -10 0 10 o0 a0
diff_bpmdaX/um diff_bpmda¥ium diff_bpmdeX/um diff_bpmdaY/um diff_bpmEium
djthpmélaL diff _ diff _ diff _ hpméleY diff _
s 35( - - N -
- — [ [ - —anc [ —{40c
- - - —=5¢ - -
1500 1500 |— 3L 1500 1500 |- 1500 |—
" — 30 C B N — 35 N —{35(
- - - _E,DE - -
- - _-3'[:": - - -
1000 |- 1000 |- 1000 |- 1000 |- aoe 1000 |- o
- —25( - D - = - D -
N N P N - G N N
500 - 500 500 - 500 [ 25( 500 [~ u 25(
- - | - = - | - |
- 20( - - - -
. N - 200 - [ -
8 o u e o o 200 o 200
reg_asym_sam | N CEE . “ | i
-500 |- -500 |- -500 |- -500 |- 150 -500 |- 156
- 100 . . 100 - - -
- - 0 - - 10( - 10€
~1000 | . ~1000 | ~1000 | ~1000 | ~1000 |
a0 - 50 - 50 50 - . 50
1500 | ~1500 | -1500 |- 1500 | - -1500 | = .
B |.| B B |||||_|_||||||||||||||||F.||| |||| B |||||||||||||||| R TN RN TN TN NN 0
20 =10 0 10 20 30

LLZ postpan:png

rund929 000 regression-regs sam2468:vs diff bpm-C:




asym_sam?2

asym_sam4

asym_samb6

asym_sam3

rund929 000 regression asvm

%

_bpm4aX

a0 ¥2/ndt  33.78/38
6000
- | p0 -19.65 + 19.03
4000 {
2000 |- Hhﬁiﬁ p1 -676.6 + 17.8
oF [ -
2000 | H
4000 m "
-6000
_8000 | i
10000
12000 }
N | 1 1 1 | 1 1 1 I 1 1 1 I 11 1 | 1 1 1
-6 4 -2 0 2 4

:
E

diff_bpm4aY

¥2 / ndf 33.84 / 34
p0 2748 £17.71
p1 692.3 7.5
5000

~5000

=
IIIIIIIIIIIIIIIII

+

=10 =5 0

3 10 15

diff_bpmdaY

=

15000

10000

5000

=

=5000

10000

15000

diff_bpmdeX

E_I_IIIIIIIIIIIIII

-40 =30 =20 =10

diff_bpmdeY

¥= [ nof 36.05/ 32 ¥2 | nf 24.6/ 31 i
p0 -22.8519.79 p0 -258817.01
p1 =529.7 1.5 p1 483.9x8.7 }\
5000 — ++H++H+w
of }
4, ~5000 |- ey
.I. - |
¥ : H#
] 1.DDDD-I_II-II|IIII||||||||||||||||
o 10 20 30 10 -5 0 5 10 15

diff_bpmdeY

4000 :_ i} %2/ ndf 33.81/ 38 %2 [ ndf 41 /34 20000 :_ - ffndf 22471 32 %2/ ndf 33.89/ 31
- p0 -7.847 + 14.805 p0 -13.76 £ 12.13 15000 :_ po —7.281+ 5.351 p0 -11.03 £ 11.45
2000 -
Hﬂ:r p1 -69.61+ 13.84 p1 732 £ 52 - - p1 —-435.7+ 0.8 p1 g86.4 + 5.9
o H Mﬁw | 0000 - 10008 3 L R
| : - - z T
2000 H\ ' 000 - ‘. HHPLH{ 5000 x 5000 [ Hﬁﬂﬁm} }
u - | it n -
4000 |- ; ﬂ:_ -
ot ] of ' F
_6000 | [ -5000 [ ‘ o
i _co00 - Wff‘ - 1‘“:, ~5000 [~ e
3 [ 10000 | . - f‘w
_B.DDD—III|III|III|III|III|III :I|IIII|IIII|IIII|IIII|IIII|I _IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIIII '1-|}|:||:||:|:LIIII|IIII|IIII|IIII|IIIII
-6 4 2 0 2 4 10 -5 0 5 10 15 50 -40 -30 -20 -10 0 10 20 30 T -5 0 5 10 15
dethmélaL diff _ diff bpm4eX  diff_bpmdeY
x2 / ndf 39.9 / 38 : +|1HH4‘ x2/ndf  52.85/34 ¥?/ndf  83.41/32 o x2/ndf 3243/ 31
1000 - 1 i
: i _ B
00 1579 +5.967 | \ 00 2943 +5.987 p0  —1.08+227 A T H% p0  1.507 + 5.807
Ll i | +
pl 3204 £+ 56 1000 5_ p1 -156.8+ 25 p 1836+ 0.4 . B p1 -2385+3.0
n fH ) _ - T - '
1000 |- - -
E WH]l ~2000 |- "“ or I +++H+ ,
oF ) w00 b i ~2000 [ H )
- T ~2000 [
-1000 - ]l # 4000 - i + i
: { O F - # -4000 [
-2000 n -4000 I
C 5000 [ ] i
-3000 :— _ 000 :_ B _BO00 B B = G000 __ )
:||||||||||||||||||||||| NN NN TN N Covvabvvabvrve b b b bovva bvvaald N T T T T N T T N Y A I A IO O A A B
-6 4 -2 0 2 4 10 -5 0 5 10 15 50 -40 -30 -20 -10 0 10 20 30 10 -5 0 5 10 15
dlthpmélaL diff _ dlthpmégL diff _bpmdeY
B — 4000
y2/ndf  34.08/38 ! y2/ndf  41.84/34 ¥2 | ndf 26.37 / 32 - ¥2 | ndf 33.56 / 31
IJ{H* |
2000 ” i
p0 2708 +5573 [ - " p0 4.843+ 4519 pO 3.033 + 2.323 *'ﬁ 2000 Hhu, p0 4.544 + 4274
Lt
p1 17.19+ 5.21 - “__ p1 -2811+19 pl 1598+ 0.4 u:— pl -3758+22
RN I : \*H Y - :
i ~2000 ‘?Hﬂﬁ{ﬂ | i J
[ H \A{H - }H -2000 - ~2000 i
o i i - - f
I H]hl 4000 B ! F i i_
' * - _ - 4000 - _ 4000 -
_1000 I E I
I ~6000 - 6000 6000
-E.DDD -II|III|II IIIIIIIIlIII i i |IIII|IIII|IIII|IIII|II-II|
10

sam2468°

vs diff Bomfit

- POS

tpan.png

diff _bpmE

%2 / ndf 132.2 /31 )
p0 -10.67 £ 17.23
p1 365.9 +£ 3.3
5000
- #
I +*+L|]l+ _
o
-5000 } -
i §
:IIII_|IIII|IIII|IIII|IIII|IIII|IIII
20 -10 0 10 20 30
diff _bpmE
%2/ ndf 135 / 31 -
pO 3.47 £ 12.08
p1 3495 + 2.3
10000 [
: |t
mnn:— ﬂﬂﬂh _
of
B 4
~5000
T 1
_IIII|IIII|IIII|IIII|IIII|IIII|IIII
20 10 0 10 20 30
diff_bpmE
2000 E— {ﬁl %2 / ndf 166.3 / 31
: b
1000 |- { f p0 ~3.689 + 5.556
ﬂ_—
: pi ~115.3 £ 1.0
~1000 E_ y H.‘ -
-2000 { }
3000 f—
4000 f—
- 5000 f—
~6000 f— )
b bbb b o e Lo
20 10 0 10 20 30
diff_bpmE
R %2 / ndf 125.8 / 31
2000 TrHH*‘*
- p0 -1.278 + 4567
°r } D1 -130.4 0.9
| WZ{HHH"
_2000 “ -
i b
4000 B
~6000 B
_IIII|IIII|IIII|IIII|IIII|IIII-|IIII

=20 =10 (1] 10 20 a0




reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run4929 000 regression reg

5000

4000

3000

2000

1000

=1000

=2000

=3000

¥Z [ ndf 44.05/ 38

pO -19.96 £ 9.73

p1 -24.31£9.14

r gl ‘
'

-6

diff_bpm4aX

-4 2 0 2 4

3000
- %2/ ndf 46.82 / 38
2500
- p0 -7.528 + 4675
2000
1500 _ ) p1 -10.39 + 4.39
1000 —
5[:05— {
o WM% :
~500 -
-1000 — ) h
-1500
—III|III|III|III|III|III
-6 -4 -2 0 2 4

diff_bpm4aX

%2 / ndf 57.19/ 38
p0 -1.688 + 2.005
pl 7.669 + 1.881 }
[ ki }
! f
=300 B - }_
=000 _—
TR BT A TN A B NV SATE N A A _| !
6 4 i 0 2 4

diff_bpm4aX

%2/ ndf 29.38 / 38
p0 2775+ 2.057 )
p1 2.971+1.921
ﬂ— J WH%HWWWW{
-E{}Df— |
-mnf— -
-ﬁan:—
:||I|||I||I|||I|||I|||

diff_bpmdaY

%2 / ndf 37.18 / 34
p0 -17.11+£ 9.76
Pl 0.5244 + 4.2241
B }
N T T ——
o \J[Hﬁﬂhﬁﬁ wh HH J
i t
~2000 - |
_4000 |-
_E.DDD__ll|||||||||||||||||||||||_|I|
0 5 0 5 10 15
E f ndf 33 32/ 34 }
00 _5.869 + 4.697
p1  0.3835 + 2.0408
500 —
B _ 4 IL } [
°F {}w’qﬂ' sy '
500 - } )
~1000 [ '
_1EDD_||||||||||||||||||||||||||I|
0 5 0 5 10 15

%
%

E = [ ndf 2695/ 34
BDD_—

B p0 -1.365 £ 2.010
IE-E'EI_—

[ p1 =0.7777 £ 0.8811
4{?0_— )
200 - w :

- "

o p] +Hﬂ

~200
~400 |-

[
600 |

NN NN NN NN e

=10 =5 1] 5 10 15

:
|

800 | x2/ndf  36.33/34

ﬁﬂnf— pO 2.202 + 2.065

ool pt  -0.676 +0.900

zﬂunf— } { ||
WM”“M

—E{:Iﬂf— |

-xmnf—

sam2468 Vs

4000 [~ %2 / ndf 52.08 / 32
- p0 -22.73 + 9.67
2000
[ } p1 ~-2.368 + 1.487
of el
: -[h
—EHDD_—
—WDD_—
_EDDD-_III_IIIIII|IIII|IIII|IIII|IIII|IIII|IIII|
=50 =40 =30 =20 =10 o 10 20 30

diff_bpmdeX

%2/ ndf 22.7 132

po —-8.357 + 4.651

p1 0.2322 + 0.7150 '
, ||}

[ w
so0 b |
1000 -
1500 - )
_| L 11 I L1 11 | L1111 | L1 11 | L1 11 | L1111 | LLIL1 | L 11 ||
50 -40 -30 -20 -10 © 10 20 a0

diff_bpmdeX

%2/ ndf 92 36 /32
p0 ~1.502 + 1.994

pi 0.6656 + 0.3082

T ey
-EDDE— | d
_mD;II,|,,,,|,,_,,|....|....|....|..||I|_|||I

-50 -40 =30 =20 -10 1] 10 20 30

iff_bpmdeX

°-.

%

bpmdeY

i %2 / ndf 25.92 / 31
4000 |-
i p0 -19.31 £ 9.73
2000 |- p1 -0.252 £ 5103
n:— ) wjr}pﬁ#%'”“'”ﬁm“ﬂi H
_2000 |- _
_a000 |-
~6000 __I L 1 1 | I . | I . I I . I 1 1 I_I I
-10 -5 0 5 10 15

diff_bpmdeY

L+ %2 | nef 32.76 / 31
1000 |-
- pO —6.726 + 4.681
500
N pl  —0.07998 + 2.46484
of- Mﬁ%ﬂ*ﬁ%ﬁﬁﬁm
Z 1
500 | i
~1000 [ -
~1500 |-
:I L1 1 1 | L1 1 1 | L1 1 1 I L1 1 1 I L1 1 1 I
10 5 0 5 10 15

diff_bpmdeY

E %2 / ndf 32.65/ 31
oo —
: p0 ~1.18 +2.00
600
[ p1 -0.366 +1.072
400 |- | -
[+ |
E'I}CI:— } |
u:— H}‘WWM#M |
—Eﬂ'ﬂl:— }; |’
400 [
I |_| A T N T T T N T T TN A N MO O
=10 =5 0 5 10 15

9-.

800~ #2 / ndf 40.55/ 32 800 |-

I &00

B p0 3.481+ 2.045 -
&0 _— 200 :_

- p1 —0.07282 + 0.31632 : +]l

- 200 -
400 — -

| oF

I 200 -
200 .

: =400 — i'

of _ WW}H ) ~B00 [~

I ' -800 [

— 200 —
0007

_F

iff _ bpmdeY

¥2 /[ ndf 38.46/ 31
pO 2.94 + 2.06
p1 —-0.3711£1.084

=il

dlﬁbpmfﬁi postpan.png

diff _bpmE

%2 [ ndf

po

pi

34.67 [ 31

-2247 £9.73 }

=1000

= 2000

=3000

~4000

=5000

.I_|IIII|IIII|IIII|IIII|III

T‘ET + 1.9573 W%WW

diff

1000

500

500

=1000

=1500

=20 =10 0 10 20 a0

i

! .
0on

800

600

400

200

=200

- 400

- 600

800

diff _bpmE

- E.Irr'ldf 34.4 [ 31

B p0 -8.137 £ 4680

B p1 —0.3484 + 0.9396

- | Wﬁlﬂ‘ :

Gooo v lv o b vvr v bvv v v o s o by
20 =10 i 10 20 a0

E Efndf 2514 7 31

B p0 —-1.044 = 2.008

- pi —0.8605 + 0.4035

; i

- Byrrmsprmstprtif

- MPL[FH +H}

TN AN RN ST AR N

=20 =10 0 10 20 a0

‘3{2 ¢ ndf 20,367 31 h
pO 3.234 + 2.057 -
p1 0.00484 + 0.41655 H
oF IM F sl
—E{?D:— }H |
-mnf—
-ﬁﬂﬂf—
ok _
Do lv o b v bvv o v o v b g

=20 =10 (1] 10 20 a0



asym_sam

asym_sam

asym_sam

asym_sam

rund929 000 resression-asym sam2468°vs

20000 20000
15000 15000 [~
10000 [~ 10000 [~
5000 - 5000 —
of of
-5000 ~5000 F
10000 - 10000 |-
15000 15000 [~
A T T T T N N T T T N N A OO [
-6 4 -2 0 2 4 10 -5 0 5 10 15
diff_bpmdaX/um diff_bpmdaYium
' iff bpmdaY
= | — | —
20000 20000 [
15000 [ 15000 [
10000 10000
5000 5000
of of
-5000 | ~5000
10000 10000
_III|III|III|III|IIIIII _IIIIII|IIII|I||||I|II|IIII|
-6 4 -2 0 2 4 10 -5 0 5 10 15
diff_bpmdaXium diff_bpmdaYium
! . [bf *
| | —
4000 4000 —
2000 2000 —
o i
2000 - 2000 - )
4000 4000 -
6000 |- ~B000
I RN R N T A R N T BN A A B o lv v by b b b |
-6 4 -2 0 2 4 10 -5 0 5 10 15
diff_bpmdaXium diff_bpmdaYium
. [bf .
B B | —
4000 4000 —
2000 2000 —
of o
2000 - 2000 -
4000 ~4000
G000 6000
_B.DDD _I 1 1 | 1 1 | 1 | | 1 1 1 | 1 1 1 I 11

20000 20000
15000 15000 [~
10000 10000 [~
5000 [~ 5000 [~
of of
~5000 | ~5000
10000 |- 10000 -
15000 15000 [~
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII _IIII|IIII|IIII|IIII|IIII
50 -40 -30 -20 -10 O 10 20 30 10 -5 0 5 10 15
difi_bpm4aX/um difi_bpm4aY/um
iff bpmdeX '
- L | —
20000 20000 [
15000 | 15000 [
10000 10000
5000 5000 [
of of
-5000 ~5000 [
10000 10000
_IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII _IIII|IIII|IIII|IIII|IIII
50 -40 -30 -20 -10 0 10 20 30 10 5 0 5 10 15
difi_bpmaaX/um difi_bpm4a¥/um
! . ff .
| | —
4000 |- 4000 |- o
2000 2000 |-
o o
2000 ~2000
4000 - 4000
-6000 | =B000 —
v b b by bvvaa b bvraa benng NI TR I BN AT AN AN AN AT A AN A A
50 -40 -30 -20 -10 O 10 20 30 10 5 0 5 10 15
difi_bpm4eX/um difi_bpmaa¥/um
iff bpmdeX '
B | — B
4000 — ' 4000 [
2000 2000 |-
o o
2000 ~2000
4000 - 4000
000 [ 6000
8000
1 1 I|IIII|IIII

liff ‘bpmsscat postpan.pne

20000

15000

10000

5000

~5000

10000

15000

diff_bpmEfum

20000

15000

10000

5000

=5000

10000

difi _bpmEfum

4000 —

2000 —

=2000 —

=4000

6000 —

-20 =10 0 10 20 30
diff_bpmEfum

2000 - O

=2000 —

-4000 —

6000 —

-8000

20 =10 0 10 20 a0
diff _bpmEfum



reg_asym_sam

reg_asym_sam

reg_asym_sam

reg_asym_sam

rund929 000 resression

8000

6000 —

4000

2000

=2000 —

4000 —

6000 —

8000 [~

diff_bopm4aX/um

4000

3000

2000

1000

=1000

=2000

=3000

=4000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

|
o
I
g
1
]
[ =e=]
]
ga

diff_bpmdax/um

1500

1000

500

=500

=1000

=1500

=2000

o
I

£
1

]
=]
]
£

diff_bpmdaX/um

1500 [~

1000 =

00—

-500 —

~1000

=1500 —

8000 8000 [ 8000 [
6000 6000 f— 6000 —
4000 4000 E— 4000 —
2000 2000 f— 2000 —
0 ll]f— ll]f—
~2000 ~2000 E— - 2000 —
~4000 -4000 f— - 4000 —
~6000 ~6000 E— ~6000 —
8000 8000 :— | = 8000 :—
o v v b P b a b len g T T T T AT T T I T Y B B
=10 =5 L1 5 10 15 -50 -40 <30 <20 <10 L 10 20 30 =10 =5 L 5 10 15
difi_bom4aYium diff_bpm4aXium difi_bom4aYium
L I]i & Ijt .
n n N —
4000 | 4000 |~ 4000 |
3000 z— 3000 z— J000 z— f -
2000 i— 2000 i— 2000 i—
1000 z— 1000 z— 1000 z—
1000 ;— 1000 z— 1000 —
2000 z— 2000 z— = 2000 z—
~3000 z— ~3000 z— ~3000 —
-4000 f_ ~4000 f— ~4000 —
A N T T T 0 A 0 BB O Cov loraa by Loy Toaaa by o s Lo laaag AT T T T A T N N T Y N B
=10 =5 o 5 10 15 =50 40 =30 =20 =10 a 10 20 30 =10 =5 a 5 10 15
diff_bpm4a¥ium diff_bpmdeXium diff_bpmde¥/um
I e I:I-li & &
1500 E— 1500 E— r 1500 — S,
1000 E— 1000 E— 1000 —
=00 f_ 300 f— 500 —
of of of
500 f— 500 f— 500 —
~1000 f_ ~1000 f— ~1000 —
'15'3'33_ -15'3'33— .j -15003—
_E{FDD:_||||||||||||||||||||||||||| _EDDD:_H||||||||||||||||||||||||||||||||||||| _Eﬂnnz_lll|||||||||||||||||||||
=10 =5 o 5 10 15 =50 40 =30 =20 =10 0 10 20 30 =10 =5 0 5 10 15
difi_bomdaYium diff_bpm4aXium difi_bomdaYium
l L lji & ! . lr‘i
B B — N
1500 f— 1500 f— 1500 —
1000 f— 1000 f— 1000 f—
SO0 E— 300 E— 300 E—
of of of
-500 f— ~500 f— -500 —
1000 E— 1000 E— 1000 —
-15'3'33— —1500:— -15003—
C .||||||||||||||||

24686 di

-m“*reg_sam

ff “bpm-scat postpan.png’

8000 —

6000 —

4000

2000 —

=2000 —

=4000 —

6000 —

8000 —

diff_bpmEfum

4000

3000

2000

1000

=1000

= 2000

=3000

=4000

=
IIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

difi _bpmEfum

1500

1000

500

500

=1000

=1500

= 2000

diff_bpmEfum

1500 —

1000

200

-500

~1000

=1500

diff _bpmEfum



asym_sam1

asym_samJ3

asym_samd

asym_sam’7/

1500
1000 |-
500 -
- u
ofF
500
-1000
-1800
-2000
- 100
2500 .
_III|III|III|III|IIIIII D
-6 4 2 0 P 4
difi_bpmdaX/um
gjff_hpmélaL
. —45(
[ —as(
20000 -
. —ap(
10000 |- m
op
10000 |-
20000 |-
_I | 1 | | | | | | | | | | | | | | | | I 1 1
6 4 ) 0 ] 4
diff_bpmdaX/um
djfL
i N —[60L
3000
i — 500
2000
i —{ 400
1000
lI:F_—.
1000 F
_2000
I e 0
6 4 2 0 2 4
difi_bpmdaX/um
45(
4000
—400
2000 —ag(
300
0

=2000

=
B+

=4000

100

~6000
50

~8000

2.
._g
e

1500 | o 1500 [ — — 100 1500 | —{sor
1000 1000 |- 1000 | 1000 .
: e : - —80 -
500 :— 500 :— 500 :— 200 :— —eor
oF ofF of oF
n —60c n - —60( n P
500 | 500 -500 |- ~500 [
n n C n 400
- - - n m
~1000 400 ~1000 | ~1000 | 400 ~1000
- - - - 30C
-1500 . -1500 . -1500 . -1500 .
- - - - 200
2000 200 ~2000 | 100 ~2000 | 200 2000
- - - - 1o
~2500 m 2500 - 2500 [ m ~2500 m
[ 1 I | I | | L1 11 | L1 1 1 | | I | | | I | | ﬂ HEEEE | 1111 I 1111 | L1111 | 1111 | 1111 | 1111 | 111 ﬂ C 1] | | I | | | I | | L1 1 1 | | I | D NN | L 111 | | I | | L1 11 | L1111 | L 111 | L 11 ﬂ
10 -5 0 5 10 15 50 -40 -30 -20 -10 O 10 20 30 10 -5 0 5 10 15 20 =10 0 10 20 30
diff_bpmdaYium diff_bpmdeX/um diff_ bpmdeY/um diff_bpmEium
l ! . [hf ! . ff l-
. - - — - —{70¢
- o | - L - |
- - —{=25¢ - —&0e -
30000 — —ene 30000 [~ 30000 [ 30000 — —eoc
i i - i ~[50¢ i
20000 [~ uoc 20000 |~ 20000 [~ 20000 [~ —{50c
i i B —40( i
10000 10000 150 10000 10000 - ™ — (400
B 00 B i B m
B [ | B B 300 B
ok ok ok ok 300
- - 100 - - W ]
"= 200 - - -
i i B 200 i 20
10000 [~ 10000 |~ 10000 [ 10000 [~
- - .S'DI: - -
: 100 [ ! 100 - 100
20000 [~ i 20000 [~ i 20000 [~ 20000 [~ i
_I I L1 11 | L1 1 1 | L1 1 1 | L1 11 | L1 11 | {' _I L 11 | L1l I L1l | L1 1l | L1l | L1l | L1l | | | ﬂ B L1 1 | | | L1 1 | L1 1 1 | L1 1 | | | L1 1 D _I L1 | L1111 | L1 11 | L1 11 | | I | | L1111 | L1 1 ﬂ
10 -5 ) 5 10 15 50 -40 -30 -20 -10 O 10 20 a0 10 -5 ) 5 10 15 20 -10 ) 10 o0 a0
diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium ditf_bpmEium
! ™ ff ! ® ff l Y -
| — | — —80L | — |
_ _ _ — [ —laoc
. - " = - 120 - .
- — - —{700 - -
3000 10( 3000 3000 - 3000 —lanc
- - - —10¢ -
N N —160( N . —{700
2000 —{800 2000 — 2000 2000 [}
- - —{500 - —{ B0 - —{B0L
1000 |- S0 1000 - a0t 1000 |- 1000 |- 500
- - = E.DE -
¥ ¥ ¥ ¥ u 400
D — - - —
- a0 0F 300 0 of
- - - 400 - 300
- - 30( - -
-1000 -1000 ~1000 ~1000 200
- 20 i [ 20 N
) ) 10 [ [ = 10¢
~2000 | ~2000 ~2000 ~2000 ]
vl b v b g b v el 0 o o b by b b by ea b 0 NN N 0 v oo o b v by e v ea b 0
10 -5 0 5 10 15 50 -40 -30 -20 -10 O 10 20 30 10 -5 0 5 10 15 30 -10 0 10 o0 a0
diff_bpmda¥ium diff_bpmdeX/um diff_bpmdaY/um diff_bpmEium
diff _ diff_ bpmdeX  diff_bpmdeY diff_bpmE
B (I B (I —18[ B (I B |
4000 4000 |- 4000 [~ —B0( 4000 " N i
- —50( i —16( - i
2000 2000 - yar 2000 | —500 2000 eor
— . _4'[:": — = — .
i i —{12¢ i i
il o o — o N
l l i 400 l . —lanc
i 00 i 10¢ i i
~2000 -2000 ~2000 300 2000 - g
| _ i _ 300
_4000 |- 200 _ap00 |- 0C _ap00 | _ap00 |-
| | B 200 | 00
n [ = [ | = = |
- - 400 - -
~B000 |- 100 ~6000 ~g00n - ~B000 |-
_ | - 10C , 100
= = . ] = ]
: - 200 i n | u
_B.DDD _I I | I | | L1 11 | | _E.DDD [ 1111 J_LI 11 | 1111 | 1111 | 1111 | 11 _BDDD [ | | | I | | | I | | L1 1 —-E-E'I'.'.IU _I 11 | L 111 | | I | | L1 11 | L1111 | L 111 | L 11 ﬂ
10 -5 20 =10 0 10 20 30
sam VS i

run4929 000 regression-asym

" bpm=(

OLZ postpan.png



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

rund929 000

200

- 200

~400

-600

-800

=1000

1
= 7]
1
St
1
]
=]
]
™

diff_bopm4aX/um

_bpmdaX

%

3000

2000

1000

=1000

=2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—WDU"'lllllllllllllllllll
diff_bpmdaxsum

o
I

g
1

]
[ =e=]
]
ga

800

600

400

200

=200

=400

-600

-B00

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
|

-H}DU"'lllllllllllllllllll
difi_bpmdaXium

o
I

£
1

]
=]
]
£

1000

500

-500

=1000

=
IIIIIIIIIIIIIIIIIIIIIIIIIII

regressmnﬁmreg_sam

45(

400

a5(

100

500

400

100

400

a5(

300

400

a5(

300

800 :— BOO :— —spr
B00 [~ —P 600 -
400 400 —la0(
- —l40c -
200 | 200
ok ok 300
B 30C B
200 |- 200 |-
~400 - 20( -400 |- 20
600 | 600
- " 10(
_800 10( ~B00 [~ -
- m - m
~1000 = oo - ™
_IIIIII|IIII|IIII|IIII|IIII| ﬂ _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
10 -5 0 5 10 15 50 -40 -30 -20 -10 O 10 20 30
diff_bpmdaYium diff_bpmdeX/um
d' d '
3000 | 3000 - eor
0 —{500 0
2000 - 2000 -
- —la00 - gy 40L
1000 [~ 1000
= -
o “x 300 of 30
- | - |
- - n
~1000 ~1000
- 200 N 200
2000 [~ 2000 -
- 100 - 100
_3000 -3000 - "
- - n
_WDD_IllllllllllllIII|IIII|IIII| ﬂ WDD_Illllllllllllllllll|IIII|IIII|IIII|IIII ﬂ
10 -5 ) 5 10 15 50 -40 -30 -20 -10 O 10 20 a0
diff bpmda¥ium diff bpmdeX/um
'l- l
N - —|45(
. 400 .
600 L. 50T 1 —35(
- —a5c -
400 - 400 —
- R - 30t
200 200 |
O o
0 - 300
200 200 —200 |
400 - 15¢ 400 - 15
~800 50 ~B00 50
n m m m - = m
Co g b v b v b b e Cooa oo by b b by ea b
=1000 -10 -5 0 5 10 15 0 -111:005D 40 -30 -2 10 0 10 ap an 0
diff_bpmda¥ium diff_bpmdeX/um
B I _45|: B I
N | | N H B _|
- L - - 400
1000 400 1000 -
- - —{a5c
i —{a5¢ i
00 | 300 S0 m P
[ m . =
[ 25( [
ol o
| n 200 |
- - m
[ i |
~500 - 15( o0 -
i 100 i
-1000 -1000
. 50 . 50
_I I | I | | i 1 I | |

10

135756 diff Bom-C

LLZ ‘postpan

9-.

800 :— —(60C
600 [~
[ —|500
400 -
200
- —{40c
of
200 S0
400 [
n 200
600
_apo - 100
n m
-1000 u
B 1 1 1 1 | | I I | | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 D
10 -5 0 5 10 15
difi_bpmdeYium
| —
3000 I LR —B0(
2000 - —en
1000
C —{400
[ ] L]
(1] [ |
B 300
1000 |
B [ |
- 20(
2000 [~
_3000 100
_mnn B | I | | L1 1 1 | | I | | 11 1 1 | 1 1 1 1 D
10 -5 0 5 10 15

diff_bpmdaY/um

oo |
&00 [

- m | e
400 [

of

~200 - m 200
-400 [
600 [ 100
-800

N [ | [ ]

I T T T T T N T T O O A I B B O

_H}D[—]ﬂ} -5 (1] L 10 15 o

diff_bpmdeY/um

diff_bpmdeY _

1000 [~
[ m —40c
500 [ -
| [ | 300
= n
ﬂ_
- 200
~500
[ =
[ 10(
-1000
i [ I |
i L1 1 | | I | | L1 1 1 |

pNg

600 [~
400
200 - —40(
of
_ 30(
-200 |
_4p0
C [ 200
600 |
_aon - 10(
" [ ]
~1000 u
B 11 | L 111 | | I | | L1 11 | L1111 | L 111 | L 11 ﬂ
=20 =10 (1] 10 20 an
diff_bpmEfum
d.
N —B0(
3000 — -
2000 —50(
B [ |
n m
1000 :— —lapc
[ m n
o [ |
- [ | anc
[ m
~1000 |
E 200
~2000 |
3000 |- 10(
_mnn _I L1 | L1111 | L1 11 | L1 11 | | I | | L1111 | L1 1 ﬂ
20 =10 (1] 10 20 a0
difi _bpmEfum
'l'
: —{ 500
800
&00 [
- m 4
400 -
[ [ |
ok 0
~200 — 200
~400 - m
600 [ 100
~B00 [—

B [ ]
-11}DU_"'|""|""lll”l""l""l"' 0
20 =10 (1] 10 20 a0

diff_bpmEfum
diff_bpmE
N —{ 500
i n
1000 — u
- —{400
B00 —
i n
a0
: [ |
D_
- . ..
= 200
=500 —
i 10(
1000 —
_I 11 | L 111 | | I | | L1 11 | L1111 | L 111 | L 11 ﬂ
=20 =10 1] 10 20 a0
diff _bpmEfum



asym_sam1

asym_samJ3

asym_samd

asym_sam’7/

%

_bpm4aX

- 2 { ndf 81.34 /38
BO0 — _
- I p0 03936 = 1.3242
400 ~ H—’ +—H-H+
- p1 1798 £1.2
200 —
of
200 r\ -
=400 :— -HH-N
i f }
- 800 ~ i
: 1 1 1 | 11 1 | 1 1 1 I 1 1 1 I 1 1 1 | 1 1 1
-6 -4 2 0 2 4

diff_bpmd4aX

10000

5000

=

=
I I I I I I 1 I I I I I 1 I I I I I 1 I I I I I 1 I
——
J
—_— ]

=5000

10000

15000 11 1 | 11 1 | 11 1

+2 / ndf 34.15 / 38

p0 1.566 + 25.762

p1 -554.5 £ 24.0

-6 -4 2

1] 2 4

dlthpmélaL

¥= [ ndf 4512 /38

p0 —0.4809 £ 2.0508

i

p1 166.9+1.9
200 - \{

of _ ]L
—a00 | -
_.1.-|}[:|:— ) }"
600 | H

[N T T T T T T T N A O O A
6 4 i 0 2 4

dlthpmélaL

¥ / ndf 34.45 /38

p0 3.588 £ 5.610

p1 169.3 £ 5.2

1000

=1000

=2000

UH WW, W

A

=

=1000

=1500

=2000

-2500

_bpmdaY

2 / ndf

F

28.48 /34
po 0.0194 + 1.0126

p1 1081 £ 0.4

“’W{

1

=10 =5 0 3 10 15

diff_bpmdaY

%2 / ndf 57.83/ 34
p0 -14.15 £ 23.03
p1 1044 £ 9.7
10000 |- 4}
- 1
i H#Hijﬁ+ 1
ol
I }pﬂﬁﬁ”
10000 — }
_I | 11 1 1 | 11 1 1 | L1 1 1 | L1 1 1 | 11 1| II l
=10 -5 1] 5 10 15

diff_bpmdaY

E.Ir ndf 31.46 /34
p0 -0.5176 £1.3250
p1 152206
m '*H:I.
1000 | i
oF
-mnn:— _hﬂﬁm”*
:||||||||||||||||||||||||||||
=10 =5 L] 5 10 15
diff
oo | er'w y2/ndf 4616/ 34
i } W
- \ 00 6.448 + 5.052
ﬂ_
- p1 =227.7 21
~2000 _ ¥ *Hﬁw
=4000 _—
=g000 _—

rund929 000 regression asvm

10 5

saml

diff_bpmdeX

/ﬁ

%2/ ndf 73.59/32
p0 -0.332 £ 1473
p1 20.54 +0.23
_5nn§— R

~1000 f—
1500 f—
-2000 E—
_zsnnf— i

-50 -40 =30 <20 -10 1] 10 20 30

diff_bpmdeX

.

diff_bpmdeY

[ T %2 ndf 27.26/ 31
N h\hﬁr
300 3 p0 -0.1204 £ 1.0842
of p1 1267+ 0.6
500
- wtﬂﬂ%
1000 .
1500 [~
~2000
~2500 | -
1 1 1 1 1 | I I | | I I | I I I | I 1 1 1 1 I
10 5 0 5 10 15

diff_bpmdeY

C - ¥*/ndf  58.63/32 x® / ndf 37.52/ 31
30000 |-
[ p0 3.1+ 3.9 p0 5488 + 22.125
20000 - p1 _8122+0.6 p1 1430 £ 11.3
i 5
10000 |- h i o
- 10000 :— i|f++}+
o : }
[ o
10000 [~ 5 -
. h'*'ai_ 10000 — ] {Fw’
20000 - _ [
:||| ||| |||| 111 |||| ||| 111 |||| ||| L1111 ||| ||| 1 L1 11 | L1 1 1 | L1 1 1 I L1 1 1 I L1 1 1 I
50 -40 -30 -20 -10 0 10 20 30 10 5 0 5 10 15

g

70.98 /32

S ¥/ ndi
3000

B p0 0.007423 + 1.689785
2000 _— FI1 —-44 98 + 0.26
1{?00_— +H'

ﬂ_

i gy
1000 [~ i

_|||||||||||||||||||||||||||||||||||||_|||

50 40 =30 =20 <10 1] 10 20 a0

diff_bpmdeX

¥Z / ndf 34.63 / 32

pO 3.435 £ 1.428

p1 17411202
= 2000 _—
i e
4000 —
=B000 _—

57" vs diff bom-fit

diff_bpmdeY

2 [ ndf 35.32 [ 31
p0 ~0.3822 +1.3303
p1 186.8 £ 0.7
. .
: .
1000 - ,ﬁ*‘rﬂ
o
~1000 — +Ww'
-||_||||||||||||||||||||||||
=10 =5 0 5 10 15
diff _bpmdeY
- | ¥2/ndf  29.98/31
2000 f
- e p0 5.131+ 4.807
ol p1 -320.2+25
_ o |
- 2000 - +++|J1++ i-
=400 _—
=g000 _—
1 1 1 11 | 1 1 1 1 | 1 1 1 1 I 1 1 1 1 I | I-I | I

10

- postpan.png

%

bpmkE

1000 [~ | ] ¥2 ! ndf 27.79 / 31
- h
soof T4 p0 -1.961+1.334
oF \ o1  -36.48+027
~500 [~ x*rﬂﬂﬁ*
1000 | + } )
1500 —
~2000 b
_ 2500 — i
1 11 ||| 11 || 111 || L1 ||| L 111 ||| 11 || 111
20 -10 0 o 20 a0
diff _bpmE
¥= [ ndf 177.9/ 31 )
pO 19.49 + 21.23
p1 608.51+4.0
10000 |- ]l
: ety
o |
[ bl
10000 —
H 1 1 ||| (I | || L1l || L1 ||| L1 11 ||| L1 || L1l
20 10 0 0 20 a0
¥2 [ nf 45 36/ 31 )
p0 2133 1.727
p1 56.04 £ 0.35
1000 | ijL }
i st |
ol
ombE H’l{”
- *H{
ool b brr e b g bea b
20 10 0 1 20 a0
diff _bpmE
- ¥2 | ndf 166.3 / 31
2000 HHH*
[ f T p0  0.04662 + 4.79532
or p1 ~1249+ 0.9
i J "***{##IT]L
2000 — *
i i
_4000 |-
_6000 -
7 11 ||| 11 || 111 || L1 ||| L 111 ||| ||-|| 111

=20 =10 (1] 10 20 a0



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run4929 000 regression reg

diff_bpmd4aX

%2/ ndf B85.79 /38
i p0 0.2753 + 0.8404
400 —
- p1 —-3.287 + 0.785
200 _— 7 t
o+ - Hﬂ ++MH}HM-' B
L * T
=200 _— )H
_4@0 :J [ | | | I | | L1 1 I L1 1 I L1 1 | L1 1
-6 -4 -2 0 2 4
diff_bpm4aX
2000 %2/ ndf 49.08 /38
1500 p0 3.385 + 3.294
1000 p1 -9.428 + 3.107
500

|||T||||
=
1}
_Ei_"'
__:EEEE?

500 +
1000 -
_1EDD 1 1 I_l L1 1 | 1 1 1 I | I | I 11 1 | 1 1
-6 -4 2 0 2 4
1</ ndf E? 73/ 38

p0 —0.3124 £ 1.0096

o1 1.85+ 0.94 MﬁH} '
C I +_
[ I k
=200 _—
—WD:—
-E-'I}D:—
800 |- )
IR BTN BN AN A BN R A A B SN A BN A
6 4 i 0 2 4
¥e / ndf 5? 07 /38
p0 3.453 = 1.402 {
o1 5.82 + 1.31 -——H*mjp]{ww _
-Eﬂ'ﬂl:— H -
—WD:—
—E-I}D:—
—E'I}D:—
- I N N N I TR N | L1

diff_bpmdaY

}:2 { ndt 2399754
pO 0.09413 £ 0.845584 {
p1 0.09008 £ 0.37042
200
—#DD:—
—IE-{:ID_—
—-EH}EI_—
—H}EID_—|||||||||||||||||||||||||_|||
=10 -5 0 5 10 15
diff_bpm4aY
B %=/ ndf 45.02 / 34
1000 —
- p0 2.979 £ 3.304
500 - p1 —0.2957 £ 1.4540
L [[WI'*“* i ww _
- 1
-ErI}D_—
= 1000 _—
S N AN RN A B A AN A BN A A B A A AN AN A A
-10 -h 0 5 10 15

diff_bpmdaY _

%2 | ndf 19.87 / 34
po —0.117 + 1.016
pi 0.1355 + 0.4459
200 —
i }+
A T— ..,.._Hf,;lmnw
- 200 —
T T T e
=10 =5 (1] 5 10 15
diff_bpmdaY
i ¥2 / nd 30.73 / 34
400
- no 2893 + 1.407
200 -
i —0.006BA3 + 0.612008
e
—EDD_— ~ *
—4»[:'[.'!_—
—IE-[:ID_—

10

sam1357 v

E

bpmdeX

diff_bpmdeY

diff _bpmE

¥Z | ndf 36.64 / 31
p0 —0.1662 + 0.8431
p1 0.4319 + 0.1679 ”ﬂh*
=200 _— |
=400 _—
600 -—
=800 _—
1 11 I|I 11 I| 111 I| L1 II| L 111 |II II_|I 111
=20 =10 (1] 10 20 a0
¥2 | ndf 41 28/ 31
po 3.361 + 3.297

p1 0.7523 + 0.6705

400 :_ 1=/ nof 2254 /32 ¥/ ndf 28.82 ' 31
300 :_ p0 0.1539 + 0.8358 pO 0.07248 + 0.84194
B p1 —0.5298 £ 0.1267 p1 0.03186 + 0.44670 "‘""‘WHHHT
o b one
i ]Lf#* I n T ,
. 200
-200 [ Jff -
E _apo |- i
=400 i
600 | -600 I~
-800 - -800 —
—1ﬂDD :TII:II III|II II|IIII |IIII|I III|III I|IIII| —1&00 ;'I 11 | L1 1 I| L1 1 II | I | I || ;I I
50 -40 -30 -20 -10 O 10 20 30 10 -5 0 5 10 15
diff_bpmdeX diff_bpmdeY
EDD | (I |
- %2/ ndf 38.06 / 32 1000 |- x° { ndf 39.29/ 3
-4"}':' __ -
B po 3.314 £ 3.271 i p0 3.252 + 3.292
soo - 500
N y } p1 -0.4165 £ 0.5130 i p1 -0.6179 £1.7668
o - +Tﬁn‘’"*”'“ﬁ'**f"*Tfr'|'|||| DZ {||“ ot w
N L . I
[ i '
~200 [ |
_A00 :— 500
-600 | )
. ~1000 |
-800 - -
B i } B
—1DDD _TIIIII III|II II|IIII |IIII|I III|III I|IIII| 1 L1 1 1 | L1 1 I| L1 1 II L1 1 II L1 1 II
50 -40 -30 -20 -10 O 10 20 30 10 -5 o 5 10 15
72 ndf 1635.-“32 1=/ ndf 3542.-“31
p0 —0.5185 = 1.0036 p0 03412 £1.0110
p1 0.4808 £ 0.1532 p1 0.215 £ 0.536 } }
ﬂ:‘ Hmﬁhu?qﬂg“ﬁﬂzhhﬁp | B } + {
N #M‘W ok HFLM _}
_200 I H
i _200
— 400 _ :
i -400 -
_||||||||||||||||||||||||||||||||||||-|||| H oo v vt r v be v v br el
50 -40 -30 -20 -10 O 10 20 30 10 -5 0 5 10 15
diff bpmdeX  diff _bpmdeY
E { ndf 45.23 /32 ¥< { ndf 31.69/ 31
po 3.442 +1.393 p0 3.106 + 1.402 i -
p1 0.2453 + 0.2156 p1 0.04894 + 0.73781
100 “ B M} ’J .
: : B — }
of Pl of [T | |
-100 f— } 300 |- +
200 I
= =400 —
-a00 . }
~400 f— B
= 4 L1 11 | L1 1 I| L1 1 II L1 1 II 1 1 II

s diff

-2{)

‘b

15

postpan png

500

H

=20 =10 (1] 10 20 30

=500

E:

500 & %2 { ndf 31.44 [ 31
400 pd  -0.3459 £ 1.0119
oo pl  —0.4052 £ 0.2037
200 —
mnf— 3 {
= W{# | )
DE {H HJf
~100 | +
~200
_:mnf—
;||||||||||||||||||||||||||||||||||
20 10 0 10 20 30
- %2 | ndf 37.13 / 31
400 —
E p0 3.836 = 1.403
300 —
B p1 -0.1762 £ 0.2824
200 |
100 |- - -
- | H '
°F -MWEF I "WH}_
100 [~
200
; L 11 |II II| 111 I|I L 11 |II II| 1 11 I|I 111

=20 =10 (1] 10 20 a0



=500

asym_sam1

=1500

=2000

-2500

= 7]
1

St
1

]
=]
]
™

diff_bopm4aX/um

asym_sam3 n

20000

diff_bpmdax/um

asym_samd ﬂ

=2000

diff_bpmdaX/um

4000 -

2000

=2000 [~

asym_sam’7/ :

4000

6000

8000 — O

rund929 000 regression-asy

m saml.

=500

=1000

=1500

=2000

-2500

10 -5 0 5 10 15
diff_bpmda¥ium

diff_bpmdaY _

20000

10000

10000

20000

=10 -5 1] 5 10 15

diff_bpmda¥/um
diff_

3000

2000

1000

=1000

=2000

10 -5 0 5 10 15
diff_bpmda¥ium

2000

2000 —

4000 —

~6000 —

=8000 =

15
Y umm

=500

=1000

=1500

= 2000

-2500

2

=40 =30

diff_
30000

20000

10000

10000

20000

20 10 0 10 20 30
diff_bpmdeX/um

2

40 -30

=20 =10 (1] 10 20 30
diff_bpmdaX/um

diff_bpmdeX

3000

2000

1000

=1000

= 2000

z

-40 =30

4000 -

2000

=
I

=2000

=4000 —

6000 —

20 10 0 10 20 30
diff_bpmdeX/um

IIILLIII|IIII|IIII|IIII|IIII

vs diff

t po:

DIEsca

=500

= 1000

=1500

= 2000

= 2500

10 15
diff_bom4eY/um

30000

20000

10000

10000

10 15
diff_bpmdaY/um

|

3000

2000

1000

=1000

10 -5 0 5 10 15
diff_bpmdeY/um

2000

= 2000

=4000 —

6000 —

~8000 |

5 10

foan.

ne

=500

=1000

=1500

= 2000

-2500

-20 =10 0 10 20 30

diff_bpmEfum
me
[

30000

20000

10000

10000

20000

=20 =10 1] 10 20 30

difi _bpmEfum
diff_bpmE

3000
2000

1000

=1000

= 2000

-20 =10 0 10 20 30
diff_bpmEfum

2000

<2000 —

=4000 —

~6000 —

- 8000

20 =10 0 10 20 a0
diff _bpmEfum



reg_asym_sam

reg_asym_sam

reg_asym_sam

reg_asym_sam

rund929 000 resression

800

600 —

400 —

200 —

-200 —

~400 —

~600 —
800 —

~1000

diff_bopm4aX/um

3000

2000

1000

=1000

=2000

=3000

~4000
diff_bpmdax/um

800
600
400

200

=200
=400
-600

-B00

-1000
diff_bpmdaX/um

1000

500

-500 —

1000 | T

800

600

400

200

=200

~400

- 600

800 —

=1000

10 -5 0 5 10 15
diff_bpmda¥ium

3000

2000

1000

=1000

=2000

=3000

~4000

10 15
diff_bpmda¥/um

800

600 —

400 —

200 —

-200 —

400 —

600 —
800 —

-1000

_I 111 | 1111 I 1111 | 1111 | 1111 | 1111 | 1111 | 1111

50 -40 -30 -20 -10 © 10 20 30
diff_bpmdeX/um

iff_bpmdeX

3000

2000

1000

=1000

= 2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

vl by by b s b s by s g
_WDDE-D 40 =30 =20 10 0 10 20 30
diff_bpmdeXium

800

600 —

400 -

200

-200

~400

~600 |
800

~1000

L 1 1 1 | 1 1 1 1 | 1 1 1 1 | L1 1 1 | I 1 1 1
10 -5 0 5 10 15
diff_bom4eY/um

3000

2000

1000

= 1000

= 2000

= 3000

N B R
10 15
diff_bpmde¥/um

WD[_JH}

* . .
800 800 | ) 800
600 600 |- 600
400 400 400
200 [ 200 200
0 = 0
200 | 200 - 200
- 400 -400 - -400
GO0 600 ~G00
- 800 800 8OO
1000 [0 —1{?DD_""l""l""l""l""""'l""l”" 1000 [ I
10 15 50 -40 -30 -20 -10 O 10 20 30 10 -5 0 5 10 15
diff_bpmdaYium diff_bpmdaXium diff_bpmdaYium
. . [hf .
B | — B B
1000 |- 1000 1000 |-
500 500 500
o of of
500 500 - 500 |-
~1000 ~1000 i ~1000 |- _
i _IIII|IIII|IIII|IIII|IIII

~“res sam1357°vs diff ‘bpm-scat postpan.png’

800
600
400

200

- 200

~400

-600
-800 —

~1000

diff_bpmEfum

3000

2000

1000

=1000

= 2000

=3000

=4000

difi _bpmEfum

800
600
400

200 F

200 |
~400
~600

-800

=1000

diff_bpmEfum

1000

500

-500

=1000

diff _bpmEfum



